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QUESTION 1

What are two roles of vmnics? (Choose two.) 

A. ESXi hosts reach the physical network through vmnics. 

B. Virtual machines require vmnics to communicate with their host. 

C. ESXi hosts are segmented using vmnics, also called virtual trunk ports. 

D. Virtual machines require vmnics to communicate with physical networks. 

Correct Answer: AD 

 

QUESTION 2

An administrator enables the NSX Ticket Logger to track infrastructure changes. The administrator logs out for lunch,
returns and logs back in to complete the task. What is the status of ticket logger when the administrator logs back in? 

A. The ticket logger still tracks changes until it is turned off by the administrator. 

B. The ticket logger is turned off. 

C. The ticket logger will prompt the user if they still want to continue tracking changes. 

D. The ticket logger will display an error. 

Correct Answer: B 

 

QUESTION 3

An NSX Administrator is examining traffic on the network shown below. 
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What is the packet flow when VM1 communicates to VM5? 

A. Host A will perform a destination lookup, route the packet, switch the packet onto segment 5002, then encapsulate
and send the packet to Host C. 

B. Host A will perform a destination lookup, switch the packet onto segment 5002, route the packet, then encapsulate
the packet and send it to the DLR control VM. 

C. Host A will encapsulate the packet, send the encapsulated packet to host C, Host C will perform a destination lookup
and switch the packet onto segment 5002. 

D. Host A will encapsulate the packet, perform a destination lookup, route the packet to the DLR control VM, the control
DLR will bridge the packet onto segment 5002. 

Correct Answer: A 

 

QUESTION 4

What can be enabled on the vSphere Distributed Switch to monitor IP packets that are passing through a distributed
port group? 

A. Traffic Marking 

B. TraceFlow 

C. Traffic Filtering 

D. NetFlow 

Correct Answer: D 

 

QUESTION 5
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In a vSphere Distributed Switch architecture, which plane handles packet switching? 

A. Data Plane 

B. Forwarding Plane 

C. Management Plane 

D. Control Plane 

Correct Answer: A 
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